# FACTORIZED ENHANCEMENT OF COPSON'S INEQUALITY 

ATANU MANNA


#### Abstract

This paper dealt with the factorized enhancement of Copson's inequality and improves one of the results given by Leindler.


## 1. Introduction

Let $\mathbf{x}=\left\{x_{n}\right\}$ be a sequence of real numbers and $p>1$. Then the following well-known Hardy's inequality

$$
\begin{equation*}
\sum_{n=0}^{\infty}\left(\frac{1}{n+1} \sum_{k=0}^{n}\left|x_{k}\right|\right)^{p} \leq\left(\frac{p}{p-1}\right)^{p} \sum_{n=0}^{\infty}\left|x_{n}\right|^{p} \tag{1}
\end{equation*}
$$

has several generalizations and extensions (see e.g. [1], [4]). Bennett (see [1]) in his notable monograph has given a systematic approach to obtain factorization of several inequalities, which include the Hardy's inequality. The classical Hardy's inequality simply asserts that

$$
\begin{equation*}
l_{p} \subseteq \operatorname{ces}(p), \quad p>1, \tag{2}
\end{equation*}
$$

where the sequence spaces $l_{p}$ and $\operatorname{ces}(p)$, which was studied initially by Shiue (see [13]) and are defined as follows:

$$
\begin{aligned}
l_{p} & =\left\{x: \sum_{n=1}^{\infty}\left|x_{n}\right|^{p}<\infty\right\}, \\
\operatorname{ces}(p) & =\left\{x: \sum_{n=1}^{\infty}\left(\frac{1}{n} \sum_{k=1}^{n}\left|x_{k}\right|\right)^{p}<\infty\right\} .
\end{aligned}
$$

G. Bennett raised a question that how much room is there between $l_{p}$ and $\operatorname{ces}(p)$. To answer this question, naturally he consider the multipliers from $l_{p}$ into $\operatorname{ces}(p)$, that is, those sequences $\mathbf{z}$, with the property that $\mathbf{y} . \mathbf{z} \in \operatorname{ces}(p)$ whenever $\mathbf{y} \in l_{p}$. The set $Z$ consisting of all multipliers must satisfy the following inclusion:

$$
l_{p} . Z \subseteq \operatorname{ces}(p) .
$$

Received Novemver 21, 2016, accpted January 19, 2018.

The surprising thing is that the above inclusion becomes an identity if $Z$ is described in a very simple terms and this investigation has been carried out by Bennett [1] himself and obtained the result stated in the following Theorem 1.

Theorem 1. Let $p>1$. A sequence $\boldsymbol{x}$ belongs to ces(p) if and only if it admits a factorization

$$
\begin{equation*}
\boldsymbol{x}=\boldsymbol{y} \cdot \boldsymbol{z}\left(x_{n}=y_{n} \cdot z_{n}\right), \tag{3}
\end{equation*}
$$

with

$$
\begin{equation*}
\boldsymbol{y} \in l_{p} \text { and }\left.\sum_{k=1}^{n}\left|z_{k}\right|\right|^{p^{*}}=\mathbf{O}(n), \quad p^{*}=\frac{p}{p-1} \tag{4}
\end{equation*}
$$

The theorem may be stated as $\operatorname{ces}(p)=l_{p} . g\left(p^{*}\right)(p>1)$, where

$$
g(p)=\left\{\mathbf{z}: \sum_{k=1}^{n}\left|z_{k}\right|^{p}=\mathbf{O}(n)\right\} .
$$

From then 'factorization of inequalities' is a new area of research. Leindler (see [8], [9], [10], [11] and references cited therein) studied and obtained results on the factorization of generalized Hardy's inequality.

The inequality (1) is generalized by Copson (see [2], Theorem 1.1; [3], Theorem A) and established the following inequality, known as Copson's inequality:

Theorem 2. Let $1<p<\infty, \boldsymbol{q}=\left\{q_{n}\right\}$ be a positive sequence of real numbers and $Q_{n}=q_{0}+q_{1}+$ $\cdots+q_{n}$. Then

$$
\begin{equation*}
\sum_{n=0}^{\infty} q_{n}\left(\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p} \leq\left(\frac{p}{p-1}\right)^{p} \sum_{n=0}^{\infty} q_{n}\left|x_{n}\right|^{p} \text { holds. } \tag{5}
\end{equation*}
$$

The following sequence spaces are introduced and studied by Johnson and Mohapatra (see [5]):

$$
\begin{aligned}
\mathbf{q}^{-1} l_{p} & =\left\{\mathbf{x}: \sum_{n=0}^{\infty}\left(q_{n}\left|x_{n}\right|\right)^{p}<\infty\right\}, \\
\mathbf{q}^{-\frac{1}{p}} l_{p} & =\left\{\mathbf{x}: \sum_{n=0}^{\infty} q_{n}\left|x_{n}\right|^{p}<\infty\right\}, \\
\operatorname{nor}-C_{q}^{-1}\left(\mathbf{q}^{-\frac{1}{p}} l_{p}\right) & =\left\{\mathbf{x}: \sum_{n=0}^{\infty} q_{n}\left(\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p}<\infty\right\},
\end{aligned}
$$

and

$$
\operatorname{ces}[p, \mathbf{q}]=\left\{\mathbf{x}: \sum_{n=0}^{\infty}\left(\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p}<\infty\right\} .
$$

Corollary 1. With these notations, inequality (5) immediately gives $\boldsymbol{q}^{-\frac{1}{p}} l_{p} \subseteq \operatorname{nor}-C_{q}^{-1}\left(\boldsymbol{q}^{-\frac{1}{p}} l_{p}\right)$.

Additional assumption on the positive sequence $\mathbf{q}$, Theorem 2 gives the following result (see [5], Theorem 1, p. 196):

Theorem 3. If $\boldsymbol{q}=\left\{q_{n}\right\}$ is bounded away from zero and $1<p<\infty$, then

$$
\boldsymbol{q}^{-1} l_{p} \subset \boldsymbol{q}^{-\frac{1}{p}} l_{p} \subset \text { nor }-C_{q}^{-1}\left(\boldsymbol{q}^{-\frac{1}{p}} l_{p}\right) \subset \operatorname{ces}[p, \boldsymbol{q}] .
$$

Several mathematicians such as Maddox (see [12]), Johnson and Mohapatra (see [5], [6] and [7]) studied the following generalizations of the sequence spaces $l_{p}$ and $\operatorname{ces}(p)$, for example

$$
\begin{aligned}
l\left(p_{n}\right) & =\left\{\mathbf{x}: \sum_{n=0}^{\infty}\left|x_{n}\right|^{p_{n}}<\infty\right\}, \\
\operatorname{ces}\left(p_{n}\right) & =\left\{\mathbf{x}: \sum_{n=0}^{\infty}\left(\frac{1}{n+1} \sum_{k=0}^{n}\left|x_{k}\right|\right)^{p_{n}}<\infty\right\},
\end{aligned}
$$

and

$$
\operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]=\left\{\mathbf{x}: \sum_{n=0}^{\infty}\left(\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p_{n}}<\infty\right\} .
$$

Bennett (see [1], Theorem 6.9) obtained the factorization of the spaces $\operatorname{cop}(p), 0<p<1$ but it is observed that no factorization was derived for the Copson's inequality (5). This paper is aimed to fulfill this gap in the literature. Indeed, we shall factorized the inclusion $\mathbf{q}^{-1} l\left(p_{n}\right) \subset$ $\operatorname{ces}[\mathbf{p}, \mathbf{q}]$, which in particular case, that is, when $p_{n}=p$ for all $n$ gives $\mathbf{q}^{-1} l_{p} \subset \operatorname{ces}[p, \mathbf{q}]$.

To obtain our result, we consider the sequence space $\operatorname{ces}[\mathbf{p}, \mathbf{q}]$ is non-trivial. Johnson and Mohapatra (see [7]) obtained equivalent condition for sequence space $\operatorname{ces}[\mathbf{p}, \mathbf{q}]$ to be nontrivial as stated below:

## Theorem 4. The following are equivalent:

(i) $\operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right] \neq 0$.
(ii) $\frac{1}{Q} \in l\left(p_{n}\right)$.

We need one more definition to establish our result:

$$
g\left(p_{n}\right)=\left\{\mathbf{z}: \sum_{k=0}^{n}\left|z_{k}\right|^{p_{k}} \leq K(p)^{p_{n}-1} Q_{n}\right\},
$$

where $K(p) \geq 1$ is a constant depending only on the sequence $\mathbf{p}$. The constant $K(p)$ will vary in different occurrences. We denote $\mathbf{p}^{*}=\left\{p_{n}^{*}\right\}$ as conjugate of $\mathbf{p}$, that is $1 / \mathbf{p}+1 / \mathbf{p}^{*}=1$ must holds. We shall use the idea given by Bennett (see [1]) to establish our generalized result but it needs deeper investigation and sincere calculation to reach.

The following lemma is well-known and will be required to prove our result:

Lemma 1.1 ([1], Lemma 3.6). Let $\boldsymbol{u}, \boldsymbol{v}, \boldsymbol{w}$ be sequences with non-negative terms and suppose that $w_{k}$ decreases with $k$. If

$$
\begin{array}{cc}
\sum_{k=0}^{n} u_{k} \leq \sum_{k=0}^{n} v_{k} & (n=0,1,2, \ldots), \\
\text { then } \quad \sum_{k=0}^{n} u_{k} w_{k} \leq \sum_{k=0}^{n} v_{k} w_{k} & (n=0,1,2, \ldots)
\end{array}
$$

## 2. Main results

Now, we state our result:
Theorem 5. Let $\boldsymbol{q}=\left\{q_{n}\right\}$ be a positive sequence of real numbers is bounded away from zero and sequence $\boldsymbol{Q}=\left\{Q_{n}\right\}$, where $Q_{n}=\sum_{k=0}^{n} q_{k}$ diverges to $\infty$.
(i) If $\boldsymbol{p}=\left\{p_{n}\right\}$ is a non-increasing sequence of positive numbers, all $p_{n}>1$; and $\boldsymbol{x} \in \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]$, then $\boldsymbol{x}$ admits a factorization (3) with

$$
\begin{equation*}
\boldsymbol{y} \in q_{n}^{-1} l\left(p_{n}\right) \text { and } \boldsymbol{z} \in g\left(p_{n}^{*}\right) \tag{6}
\end{equation*}
$$

(ii) Conversely, if $\boldsymbol{p}$ is a non-decreasing and bounded sequence of numbers such that $p_{0}>1$, furthermore (6) holds, then the product sequence $\boldsymbol{x}=\boldsymbol{y} \cdot \boldsymbol{z} \in \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]$.

## Proof.

(i) Let it be assumed that $\mathbf{x} \neq \mathbf{0}=\{0,0, \ldots\}$. For $\mathbf{x}=\mathbf{0}$, the statement is trivial.

For $\mathbf{x} \in \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]$, put

$$
\begin{equation*}
b_{n}=\sum_{k=n}^{\infty} \frac{1}{Q_{k}^{p_{k}}}\left(\sum_{i=0}^{k} q_{i}\left|x_{i}\right|\right)^{p_{k}-1} . \tag{7}
\end{equation*}
$$

We assert that the sequence $\mathbf{b}=\left\{b_{n}\right\}$ is monotonically tends to zero. In fact, by the following well-known inequality:

$$
a b \leq \frac{a^{p}}{p}+\frac{b^{p^{*}}}{p^{*}}, \quad p>1,
$$

one obtains

$$
\begin{align*}
b_{n} & =\sum_{k=n}^{\infty} \frac{1}{Q_{k}}\left(\frac{1}{Q_{k}} \sum_{i=0}^{k} q_{i}\left|x_{i}\right|\right)^{p_{k}-1} \\
& \leq \sum_{k=n}^{\infty} \frac{1}{p_{k}} \frac{1}{Q_{k}^{p_{k}}}+\sum_{k=n}^{\infty} \frac{1}{p_{k}^{*}}\left(\frac{1}{Q_{k}} \sum_{i=0}^{k} q_{i}\left|x_{i}\right|\right)^{p_{k}} \\
& =S_{1}+S_{2} . \tag{8}
\end{align*}
$$

Since $p_{k}>1$ and sequence space $\operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]$ is non-trivial, so

$$
S_{1}<\sum_{k=n}^{\infty} \frac{1}{Q_{k}^{p_{k}}} \rightarrow 0 \text { as } n \rightarrow \infty
$$

Again, since $p_{k}>1$ and $\mathbf{x} \in \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]$, one gets

$$
S_{2}<\sum_{k=n}^{\infty}\left(\frac{1}{Q_{k}} \sum_{i=0}^{k} q_{i}\left|x_{i}\right|\right)^{p_{k}} \rightarrow 0 \text { as } n \rightarrow \infty
$$

Combining these two, one can easily proved the assertion.
Now the following factorization of $\mathbf{x}=\left\{x_{n}\right\}$ is considered:

$$
\mathbf{x}=\mathbf{y} \cdot \mathbf{z} \quad\left(x_{n}=y_{n} \cdot z_{n}\right),
$$

where

$$
\begin{equation*}
y_{n}=\left(\frac{b_{n}\left|x_{n}\right|}{q_{n}^{p_{n}-1}}\right)^{\frac{1}{p_{n}}} \operatorname{sig} n\left(x_{n}\right) . \tag{9}
\end{equation*}
$$

and

$$
\begin{equation*}
z_{n}=\left(q_{n}\left|x_{n}\right|\right)^{\frac{1}{p_{n}^{*}}} b_{n}^{-\frac{1}{p_{n}}} \tag{10}
\end{equation*}
$$

Therefore using equations (9) and (10), one obtains

$$
\begin{aligned}
\sum_{n=0}^{\infty}\left(q_{n}\left|y_{n}\right|\right)^{p_{n}} & =\sum_{n=0}^{\infty} q_{n}\left|x_{n}\right| b_{n} \\
& =\sum_{n=0}^{\infty} q_{n}\left|x_{n}\right| \sum_{k=n}^{\infty} \frac{1}{Q_{k}^{p_{k}}}\left(\sum_{i=0}^{k} q_{i}\left|x_{i}\right|\right)^{p_{k}-1} \\
& =\sum_{k=0}^{\infty} \frac{1}{Q_{k}^{p_{k}}}\left(\sum_{i=0}^{k} q_{i}\left|x_{i}\right|\right)^{p_{k}-1}\left(\sum_{n=0}^{k} q_{n}\left|x_{n}\right|\right) \\
& =\sum_{k=0}^{\infty} \frac{1}{Q_{k}^{p_{k}}}\left(\sum_{i=0}^{k} q_{i}\left|x_{i}\right|\right)^{p_{k}}
\end{aligned}
$$

Hence $\mathbf{x} \in \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]$ implies that $\mathbf{y} \in q_{n}^{-1} l\left(p_{n}\right)$.
Now using the Hölder's inequality, the following is obtained:

$$
\left.\begin{array}{rl}
\left(\sum_{k=0}^{m}\left|z_{k}\right|^{p_{k}^{*}}\right)^{p_{m}} & =\left(\sum_{k=0}^{m}\left(q_{k}\left|x_{k}\right|\right)^{\frac{1}{p_{m}}}+\frac{1}{p_{m}^{*}}\right.
\end{array} b_{k}^{-\frac{p_{k}^{*}}{p_{k}}}\right)^{p_{m}} .
$$

Therefore, for $m=0,1,2, \ldots$, one gets

$$
\sum_{n=m}^{\infty}\left(\frac{1}{Q_{n}} \sum_{k=0}^{m}\left|z_{k}\right|^{p_{k}^{*}}\right)^{p_{m}} \leq \sum_{n=m}^{\infty} \frac{1}{Q_{n}^{p_{m}}}\left(\sum_{k=0}^{m} q_{k}\left|x_{k}\right|\right)^{p_{m}-1}\left(\sum_{k=0}^{m} q_{k}\left|x_{k}\right| b_{k}^{-\frac{p_{m} p_{k}^{*}}{p_{k}}}\right)
$$

$$
\begin{equation*}
=\sum_{k=0}^{m} q_{k}\left|x_{k}\right| b_{k}^{-\frac{p_{m} p_{k}^{*}}{p_{k}}} \sum_{n=m}^{\infty} \frac{1}{Q_{n}^{p_{m}}}\left(\sum_{k=0}^{m} q_{k}\left|x_{k}\right|\right)^{p_{m}-1} \tag{12}
\end{equation*}
$$

Since $\mathbf{x} \in \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]$, so the sequence $\left\{\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right\}$ is bounded, that is there exist constant $K_{1}(p)$ (infact, here and after we shall use $K_{i}(p)$ instead of $K_{i}(\mathbf{p})$ depending on the sequence $\mathbf{p}$ for each $i$ ), we have

$$
\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right| \leq K_{1}(p) \quad \text { for each } n=0,1,2, \ldots
$$

Now, the following is established:

$$
\begin{align*}
\sum_{n=m}^{\infty} \frac{1}{Q_{n}^{p_{m}}}\left(\sum_{k=0}^{m} q_{k}\left|x_{k}\right|\right)^{p_{m}-1} & =\sum_{n=m}^{\infty} \frac{1}{Q_{n}^{p_{n}}}\left(\sum_{k=0}^{m} q_{k}\left|x_{k}\right|\right)^{p_{n}-1} Q_{n}^{p_{n}-p_{m}}\left(\sum_{k=0}^{m} q_{k}\left|x_{k}\right|\right)^{p_{m}-p_{n}} \\
& =\sum_{n=m}^{\infty} \frac{1}{Q_{n}^{p_{n}}}\left(\sum_{k=0}^{m} q_{k}\left|x_{k}\right|\right)^{p_{n}-1}\left(\frac{1}{Q_{n}} \sum_{k=0}^{m} q_{k}\left|x_{k}\right|\right)^{p_{m}-p_{n}} \\
& \leq K_{2}(p) \sum_{n=m}^{\infty} \frac{1}{Q_{n}^{p_{n}}}\left(\sum_{k=0}^{m} q_{k}\left|x_{k}\right|\right)^{p_{n}-1}=K_{2}(p) b_{m} . \tag{13}
\end{align*}
$$

Since the sequence $\mathbf{b}$ is bounded and $\mathbf{p}$ is non-increasing, so there exists a constant $K_{3}(p)$ and for each $k=0,1,2, \ldots$ with $k \leq m$, one can assumed that

$$
b_{k}^{\frac{p_{k}-p_{m}}{p_{k}-1}} \leq K_{3}(p)
$$

Therefore, one gets

$$
\begin{align*}
\sum_{k=0}^{m} q_{k}\left|x_{k}\right| b_{k}^{-\frac{p_{m} p_{k}^{*}}{p_{k}}} & =\sum_{k=0}^{m} q_{k}\left|x_{k}\right| b_{k}^{-\frac{p_{k}^{*}}{p_{k}}} b_{k}^{\frac{p_{k}-p_{m}}{p_{k}-1}-1} \\
& \leq K_{3}(p) \sum_{k=0}^{m} q_{k}\left|x_{k}\right| b_{k}^{-\frac{p_{k}^{*}}{p_{k}}} b_{k}^{-1} \\
& \leq K_{3}(p) b_{m}^{-1} \sum_{k=0}^{m} z_{k}^{p_{k}^{*}} \tag{14}
\end{align*}
$$

Therefore, using inequalities (12), (13) and (14), there exists a constant $K_{4}(p)$, we have

$$
\sum_{n=m}^{\infty} \frac{1}{Q_{n}^{p_{m}}}\left(\left.\sum_{k=0}^{m}\left|z_{k}\right|\right|^{p_{k}^{*}}\right)^{p_{m}-1} \leq K_{4}(p)
$$

which implies that $\frac{1}{Q_{m}^{p m}}\left(\sum_{k=0}^{m}\left|z_{k}\right|^{p_{k}^{*}}\right)^{p_{m}-1} \leq K_{4}(p)$. Hence an easy computation gives that

$$
\sum_{k=0}^{m}\left|z_{k}\right|^{p_{k}^{*}} \leq K(p)^{\frac{1}{p_{m-1}}} Q_{m}=K(p)^{p_{m}^{*}-1} Q_{m}
$$

This completes the part (i) of the theorem.
(ii) Since $\mathbf{z} \in g\left(p_{n}^{*}\right)$, we have

$$
\sum_{k=0}^{n}\left|z_{k}\right|^{p_{k}^{*}} \leq K(p)^{\frac{1}{p_{n}-1}} Q_{n}=K(p)^{\frac{1}{p_{n}-1}} \sum_{k=0}^{n} q_{k}
$$

Choose $w_{k}=Q_{k}^{-\frac{1}{2}}$, and applying the Lemma 1.1, one gets

$$
\begin{equation*}
\sum_{k=0}^{n}\left|z_{k}\right|^{p_{k}^{*}} Q_{k}^{-\frac{1}{2}} \leq K(p)^{\frac{1}{p_{n}-1}} \sum_{k=0}^{n} q_{k} Q_{k}^{-\frac{1}{2}} \tag{15}
\end{equation*}
$$

Now applying the Hölder's inequality on the factorization $\mathbf{x}=\mathbf{y} . \mathbf{z}$, one obtains

$$
\begin{align*}
\left(\sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p_{n}} & =\left(\sum_{k=0}^{n} q_{k}\left|y_{k}\right| Q_{k}^{\frac{1}{2 p_{n}^{*}}}\left|z_{k}\right| Q_{k}^{-\frac{1}{2 p_{n}^{*}}}\right)^{p_{n}} \\
& \leq\left(\sum_{k=0}^{n}\left(q_{k}\left|y_{k}\right|\right)^{p_{n}} Q_{k}^{\frac{p_{n}-1}{2}}\right)\left(\sum_{k=0}^{n}\left|z_{k}\right|^{p_{n}^{*}} Q_{k}^{-\frac{1}{2}}\right)^{p_{n}-1} \tag{16}
\end{align*}
$$

Using inequalities (15) and (16), one gets

$$
\begin{align*}
\sum_{n=0}^{\infty}\left(\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p_{n}} & \leq \sum_{n=0}^{\infty} \frac{1}{Q_{n}^{p_{n}}}\left(\sum_{k=0}^{n}\left(q_{k}\left|y_{k}\right|\right)^{p_{n}} Q_{k}^{\frac{p_{n}-1}{2}}\right)\left(\sum_{k=0}^{n}\left|z_{k}\right|^{p_{n}^{*}} Q_{k}^{-\frac{1}{2}}\right)^{p_{n}-1} \\
& \leq K(p) \sum_{n=0}^{\infty} \frac{1}{Q_{n}^{p_{n}}}\left(\sum_{k=0}^{n}\left(q_{k}\left|y_{k}\right|\right)^{p_{n}} Q_{k}^{\frac{p_{n}-1}{2}}\right)\left(\sum_{k=0}^{n} q_{k} Q_{k}^{-\frac{1}{2}}\right)^{p_{n}-1} . \tag{17}
\end{align*}
$$

Note that

$$
\begin{aligned}
\sum_{k=0}^{n} q_{k} Q_{k}^{-\frac{1}{2}} & =q_{0} Q_{0}^{-\frac{1}{2}}+\sum_{k=1}^{n} q_{k} Q_{k}^{-\frac{1}{2}} \\
& \leq q_{0} Q_{0}^{-\frac{1}{2}}+\sum_{k=1}^{n} \int_{Q_{k-1}}^{Q_{k}} x^{-\frac{1}{2}} d x \leq 2 Q_{n}^{\frac{1}{2}}
\end{aligned}
$$

Using the above inequality, there exists a constant $K_{5}(p)=2^{p_{n}-1} K(p)$, from inequality (17) one can deduced that

$$
\begin{align*}
\sum_{n=0}^{\infty}\left(\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p_{n}} & \leq K_{5}(p) \sum_{n=0}^{\infty} \frac{1}{Q_{n}^{p_{n}}} \sum_{k=0}^{n}\left(q_{k}\left|y_{k}\right|\right)^{p_{n}} Q_{k}^{\frac{p_{n}-1}{2}} Q_{n}^{\frac{p_{n}-1}{2}} \\
& =K_{5}(p) \sum_{k=0}^{\infty}\left(q_{k}\left|y_{k}\right|\right)^{p_{n}} \sum_{n=k}^{\infty}\left(\frac{Q_{k}}{Q_{n}}\right)^{\frac{p_{n}-1}{2}} \cdot \frac{1}{Q_{n}} \\
& =K_{5}(p) \sum_{k=0}^{\infty}\left(q_{k}\left|y_{k}\right|\right)^{p_{k}}\left(q_{k}\left|y_{k}\right|\right)^{p_{n}-p_{k}} \sum_{n=k}^{\infty}\left(\frac{Q_{k}}{Q_{n}}\right)^{\frac{p_{k}-1}{2}}\left(\frac{Q_{k}}{Q_{n}}\right)^{\frac{p_{n}-p_{k}}{2}} \frac{1}{Q_{n}} . \tag{18}
\end{align*}
$$

Using the monotonicity, boundedness of the sequence $\mathbf{p}$ and since the sequence $\mathbf{q y}=\left\{q_{n} y_{n}\right\}$ is bounded as $\mathbf{y} \in q_{n}^{-1} l\left(p_{n}\right)$, so the sequences $\left\{\left(q_{k} y_{k}\right)^{\left.p_{n}-p_{k}\right\}}\right.$ and $\left\{\left(\frac{Q_{k}}{Q_{n}}\right)^{\frac{p_{n}-p_{k}}{2}}\right\}$ are also bounded and hence from inequality (18) there exists a constant $K_{6}(p)$, one gets

$$
\sum_{n=0}^{\infty}\left(\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p_{n}} \leq K_{6}(p) \sum_{k=0}^{\infty}\left(q_{k}\left|y_{k}\right|\right)^{p_{k}} \sum_{n=k}^{\infty}\left(\frac{Q_{k}}{Q_{n}}\right)^{\frac{p_{k}-1}{2}} \cdot \frac{1}{Q_{n}}
$$

$$
\begin{equation*}
=K_{6}(p) \sum_{k=0}^{\infty}\left(q_{k}\left|y_{k}\right|\right)^{p_{k}} Q_{k}^{\frac{p_{k}-1}{2}} \sum_{n=k}^{\infty} \frac{1}{Q_{n}^{1+\frac{1}{2}\left(p_{k}-1\right)}} . \tag{19}
\end{equation*}
$$

Since the sequence $\mathbf{q}=\left\{q_{n}\right\}$ is bounded away from zero, so by definition there exists a $c>0$ such that $q_{n} \geq c$ for all $n \geq 0$. Then it is known by a simple calculation that

$$
\begin{align*}
\sum_{n=k}^{\infty} \frac{1}{Q_{n}^{1+\frac{1}{2}\left(p_{k}-1\right)}} & \leq \frac{1}{c} \lim _{N \rightarrow \infty} \sum_{n=k}^{N} q_{n} Q_{n}^{-1-\frac{1}{2}\left(p_{k}-1\right)} \\
& \leq \frac{1}{c}\left\{q_{k} Q_{k}^{-1-\frac{1}{2}\left(p_{k}-1\right)}+\lim _{N \rightarrow \infty} \sum_{n=k+1}^{N} \int_{Q_{k-1}}^{Q_{k}} x^{-1-\frac{1}{2}\left(p_{k}-1\right)} d x\right\} \\
& \leq \frac{1}{c}\left\{Q_{k}^{-\frac{1}{2}\left(p_{k}-1\right)}+\frac{2}{p_{k}-1} Q_{k}^{-\frac{1}{2}\left(p_{k}-1\right)}\right\} \\
& =\frac{\left(p_{k}+1\right)}{c\left(p_{k}-1\right)} Q_{k}^{-\frac{1}{2}\left(p_{k}-1\right)} \tag{20}
\end{align*}
$$

Choose a constant $K_{7}(p)=K_{6}(p) \frac{\left(p_{k}+1\right)}{c\left(p_{k}-1\right)}$, then by using inequality (20), from inequality (19) one obtains

$$
\begin{equation*}
\sum_{n=0}^{\infty}\left(\frac{1}{Q_{n}} \sum_{k=0}^{n} q_{k}\left|x_{k}\right|\right)^{p_{n}} \leq K_{7}(p) \sum_{k=0}^{\infty}\left(q_{k}\left|y_{k}\right|\right)^{p_{k}} . \tag{21}
\end{equation*}
$$

Inequality (21) clearly implies that $\mathbf{x} \in \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right]$, as the sequence $\mathbf{y} \in q_{n}{ }^{-1} l\left(p_{n}\right)$.
Remark 1. If $\mathbf{x} \in q_{n}^{-\frac{1}{p_{n}}} l\left(p_{n}\right)$, then $\mathbf{x}$ can be factorized as (3) with (6) by choosing $\mathbf{y}=\left\{x_{n} q_{n}^{-\frac{1}{p_{n}^{*}}}\right\}$ $\in q_{n}^{-1} l\left(p_{n}\right)$ and $\mathbf{z}=\left\{q_{n}^{\frac{1}{p_{n}^{n}}}\right\}$. Therefore Part (ii) of our theorem clearly indicates that

$$
q_{n}^{-\frac{1}{p_{n}}} l\left(p_{n}\right) \subseteq \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right], p_{n}>1
$$

Using the hypothesis on $\mathbf{q}$, an easy computation gives

$$
q_{n}^{-1} l\left(p_{n}\right) \subseteq q_{n}^{-\frac{1}{p_{n}}} l\left(p_{n}\right) \subseteq \operatorname{nor}-C_{q}^{-1}\left(\mathbf{q}^{-\frac{1}{p_{n}}} l\left(p_{n}\right)\right) \subseteq \operatorname{ces}\left[\left\{p_{n}\right\},\left\{q_{n}\right\}\right], p_{n}>1
$$

Remark 2. If $q_{n}=1$ for each $n$, then Theorem 5 gives the result obtained by Leindler (see [10], Theorem 2.1.).

Remark 3. If $p_{n}=p$ for each $n$, then Theorem 5 with Remark 1 gives the factorized enhancement of Copson's inequality.

## Acknowledgements

The author is very grateful to Prof. László Leindler for sending his two research articles [8] and [9] regarding factorization of inequalities.

## References

[1] G. Bennett, Factorizing the Classical Inequalities, Memoirs of Amer. Math. Soc., 120 (No. 576) (1996), 1-130.
[2] E. T. Copson, Note on series of positive terms, J. London Math. Soc., 2(1927), 9-12.
[3] E. T. Copson, Some integral inequalities, Proc. Roy. Soc. Edinburg Sect. A, 75(2) (1976), 157-164.
[4] G. H. Hardy, J. E. Littelewood and G. Polya, Inequalities, Cambridge 1934.
[5] Jr. P. D. Johnson and R. N. Mohapatra, On inequalities related to sequence spaces $\operatorname{ces}[p, q]$, General Inequalities 4, (W. Walter Ed.), Vol. 71: International Series of Numerical Mathematics, Birkhäuser Verlag, Basel, 1984, 191-201.
[6] Jr. P. D. Johnson and R. N. Mohapatra, On an analogue of Hardy's inequality, Arch. Math., 60 (1993), 157-163.
[7] Jr. P. D. Johnson and R. N. Mohapatra, Density of finitely non-zero sequences in some sequence spaces, Math. Japonica, 24 (1979), 253-262.
[8] L. Leindler , Hardy-Bennett-type theorems, Math. Ineq. Appl., 1 (4) (1998), 517-526.
[9] L. Leindler, On the factorization of inequalities, Math. Ineq. Appl., 2(4) (1999), 509-516.
[10] L. Leindler, Factorization of inequalities, J. Ineq. Pure Appl. Math., 5(1) (2004), Art. 12.
[11] L. Leindler, Hardy-Littlewood-type inequalities and their factorized enhancement, T. M. Rassias (Ed.), Survey on Classical Inequalities, Kluwer Academic Publishers, (2000), 99-125.
[12] I. J. Maddox, Spaces of strongly summable sequences, Quart. J. Math. (Oxford), 18 (1967), 345-355.
[13] J. S. Shiue, Cesàro sequence spaces, Tamkang J. Math., 1(1970), 19-25.

Faculty of Mathematics, Indian Institute of Carpet Technology, Chauri Road, Bhadohi-221401, Uttar Pradesh, India.

E-mail: atanu.manna@iict.ac.in

